; = a4\ <
SUSPENSION COMPO

RockJock® Professional OffRoad Products presents:

CE-9807FTBK Front Track Bar Relocator Kit

Installation Instructions

Fits: Front of ‘07 & up Jeep JK Wranglers

1) CE-7120F-TB1 - Front Track Bar Relocator Bracket Inner
1) CE-7120F-TB2 - Front Track Bar Relocator Bracket Outer
1) CE-9807FTBS1 - Spacer (large)

1) CE-9807FTBS2 - Spacer (small)

2) EE-3816CH5 - 3/8-24 x 1" Bolts

1) EE-3848CH5 - 3/8-24 x 3" Bolt

6) EE-37WSAEH - 3/8 Washers

3) EE-38ALNC - 3/8 Stover Nuts

1) EE-5752CH5 - 9/16-18 x 3.25" Bolt

1) EE-57ALNCZY - 9/16-18 Stover Nut

2) EE-56WUSSH - 9/16 Washers

1) Remove the factory track bar.

2) Remove paint from the front of the passenger side upper
control arm bracket.

3) Install front track bar relocator brackets, using the
supplied hardware.

- Install large bracket inside the factory track bar bracket
using 3/8"-24 x 1" bolt on the lower right hole.

- Install small bracket on the front of the factory bracket
using 3/8"-24 x 1" bolt on the lower right hole.

- Insert the small spacer between the rear bracketand the
factory bracket. Use 3/8"-24 x 3" bolt on the lower left
hole and bolt through front bracket, small spacer, rear
bracket and factory bracket.

-Nextinsert large spacer in the same manner as the small
one and bolt through with 9/16-18 x 3.25” bolt.

4) Tighten the lower right bolt on the back bracket.

5) Install factory track bar using factory hardware and tighten.

6) Tighten the other hardware at this time.

7) Weld the rear bracket to the factory upper control arm. It
may be necessary to fit bracket by grinding prior to
welding. In some cases a clamp may be needed to pull
bracket against the upper arm mount.

8) Paint bracket using your choice of paint.

Currie Enterprises / RockJock Professional Off Road Products

382 N. Smith Ave., Corona, Ca. 92880 r ®
UBRRHE Ph (714) 528-6957 - F (951) 549-0267 RE EK ﬂ]@:{@

ENTERPRISES,

www.rockjock4x4.com




